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Qn: 1

C.O. 1

M.P. 4, 3

Question Text:

Facts related with 2 modes of nutrition are given below. Arrange them in 2 columns. Give suitable

headings and example.

* No egestion * Digestion outside the body * Egestion

* Absorption * Digestion inside the body * No ingestion

* Dead Matter * Ingestion of food * Secretion of digestive enzymes

(inzymes) directly to food. (score : 2)

P´p¡fnse c­v t]mjW coXnIfpambn _Ôs¸« hnhc§Ä apIfnÂ \ÂInbncn¡p¶p.

Ahsb c­v tImf§fnembn XcwXncn¨v, DNnXamb Xes¡«pw DZmlcWhpw \ÂIpI.

Scoring key :

Holozoic Nutrition Saprozoic Nutrition

* Ingestion of food * Dead Matter

* Digestion inside the body * No ingestion.

* Absorption * Secretion of digestive enzymus directly to food

* Egestion * Digestion outside body

* No egestion

Eg: Man Eg: Spider (Time : 4 min.)

(Heading - ½, Arrangement 2 column - 1, Eg - ½) Total score : 2

Qn: 2

C.O. 1

M.P. 6

Question Text:

Some people usually eat (consume) more food than they require. How the body adjust with this

excessive condition.

(Hint: Excess carbohydrate, Lipid, Minerals)

NneÀ s]mXpsh th­ Afhne[nIw Blmcw D]tbmKn¡p¶hcmWv. AanX

Blmcs¯ icocw {IaoIcn¡p¶sX§s\.

(score 1½)



Scoring key:

Excess Carbohydrate : Converted to glycogen and fat, stored in liver, muscle etc.

Excess Lipid : Converted to cholestreol deposited in blood vessels.

Excess Minerals : Stored in body and cause toxic effect.

(Time: 3 min.)

(½ x 3 - 1½)

Qn: 3

C.O. 1

M.P.

Question Text:

The physiologic value of 3 nutrients are shown in the given

graph. Observe the graph and answer the following questions.

(a) Identify the nutrients marked A, B and C.

(b) Which nutrient is having maximum physiologic value.

(c) Prepare a bardiagram showing the daily requirement

of carbohydrate, fat and protiens.

3 t]mjI§fpsS ̂ nkntbmfPnIv hmeyp ImWn¡p¶ {Km^mWv \ÂInbncn¡p¶Xv. {Km v̂

\nco£n¨v \ÂInbncn¡p¶ tNmZy§Ä¡v D¯cw Is­¯pI.

(a) A, B, C F¶v tcJs¸Sp¯nb t]mjI§sf Xncn¨dnbpI.

(b) ]camh[n ^nkntbmfPnIv hmeyp DÅ t]mjIw GXv ?

(c) t]mjI§fpsS ssZ\wZn\ BhiyIX kqNn¸n¡p¶ _mÀ Ub{Kw \nÀ½n¡pI.

Scoring Key:

(a) A  -  Lipid

B  -  Protein

C  -  Carbohydrate (1½)

(b) Lipid (½)

(c) (1)

Time : 6 min.

Score : 3

9.45

5.65

4.1

A B C

 Protein, FatCarbohydrate,



Qn: 4

C.O. 1

M.P.

Question Text:

(a) Identify the process by which the following absorbable form of nutrients are transported across

the membrane of villi.

(2 score)

(b) Presence of Na+ is essential for the absorption of Aminoacids from intestine, justify the

statement.          (1 score)

(a) X¶n«pÅ BKncW tbmKyamb t]mjW hkvXp GXv {]{InbIfneqsSbmWv

hnÃkv kvXc¯neqsS IS¶pt]mIp¶Xv. (2 score)

(b) Aant\m BknUpIfpsS BKncW¯n\v Na+ BhiyamWv. Cu {]kvXmh\

km[qIcn¡pI. (1 score)

Answers key:

(a) Aminoacid - Active transport

Glycerol - Diffusion

Fructose - Facilitated diffussion

Fatty acid - Diffusion (½ x 4 = 2)

(b) (i) Amino acid absorbed by Active transport.

(ii) It occurs via co-transported channel coupled with movement of Na+

(½ +½ = 1)

Qn: 5

C.O. 3

Question Text:

Given the diagram of intestinal villus.

(a) Identify the part labelled as ‘a’ and ‘b’ in figure.

(1 score)

(b) Give the function of part ‘a’. (1 score)

(c) Give the role of ‘b’ in digestion. (1 score)



sNdpIpSense hnÃknsâ Nn{Xw X¶ncn¡p¶p.

(a) ‘a’ F¶pw ‘b’ F¶pw tcJs¸Sp¯nb Nn{X¯nse `mK§Ä GsX¶v I­p]nSn¡pI.  (1 score)

(b) ‘a’ bpsS [À½§Ä hniZam¡pI. (1 score)

(c) Zl\¯n\v  ‘b’ bpsS [À½w F´mWv ? (1 score)

Scoring Key:

(a) ‘a’ Lacteal

‘b’ crypts of Lieberkubn (½ + ½ = 1 score)

(b) Absorption of fat and fat soluble vitamines. (1 score)

(c) Crypts of Lieberkubn produce intestinal juice helps in diogestion. (1 score)

Qn: 6

C.O. 2

M.P.

Question Text:

(a) In cockroach, food mastication occurs mainly in gizzard than in buccal cavity. Do you agree with this

statement, justify.

(b) Name the enzymes produced by Hepatic caeca.

(c) Name the nutrient which is absorbed through hepatic caeca.

(a) ]mäbnÂ Nh¨cbv¡Â {]{Inb hmbv¡pÅnÂ \S¡p¶Xnt\¡mÄ KnÊmÀSn\pÅnÂ

\S¡p¶p. \n§Ä Cu {]kvXmh\tbmSv tbmPn¡p¶pt­m ? km[qIcn¡pI.

(b) sl¸män¡v ko¡bnÂ \n¶v DXv]mZn¸n¡p¶ {][m\ F³sskapIÄ Gh ?

(c) sl¸mänIv ko¡bneqsS BKncWw sN¿p¶ t]mjW ]ZmÀ°w GXv ?

Scoring Key:

(a) Agree (½)

Gizzard contain 6 chitinous circular teeth - helps in mastication.

Buccal cavity has no masticatory organs. (1½)

(b) Amylase

maltase

lactase

lipase

(c) Glucose (½)

Time : 5 min.

Total score - 3

 

(1)



Qn: 6

C.O. 3

M.P.

Question Text:

(a) Fatty chyme in duodenum decrease the speed of peristalsis. How the fatty chyme affects the

speed of peristalsis.

(Hint: Hormonal control of digestion) (score : 2)

sImgp¸v IqSnb Blmcw UntbmUn\¯nÂ F¯nbmÂ AXv s]cnÌmÄknknsâ thKX

Ipdbv¡p¶Xmbn ImWp¶p. F§s\ ?

(kqN\ : Zl\ {]{Inb \nb{´n¡p¶ tlmÀtam¬)

Scoring Key:

- GIP (Gastric - Inhibitory Peptide) produced by duodenum, inhibit gastric mobility     (1)

- Fatty chyme in duodenum stimulate the release of GIP. (1)

Time:4

Score : 2

Qn: 7

C.O. 3

MP:

Question Text:

Complete the flow chart.

Bile salt  +  Fat

(a)

(d)

Reconstructed

(e)

Lipase

Bile salt

PhospholipidCholesterol

(b)        +             (c)

Enter into Lymphatic capillary

enter into absorptive cells

X¶n«pÅ ̂ vtfm NmÀ«v ]qÀ¯nbm¡pI.



Scoring Key:

(a) Emulsified lipid

(b) Glycerol M.P.  4

(c) Fatty acid

(d) Micelle

(e) Chylomicrons (½ x 5 = 2½)

Qn: 8

C.O. 2

Question Text:

(a) Observe the fig, and identify the labelled parts a,  b  and c.

(b) If b is completely blocked, how it affect the process of digestion.

(c) How this condition adversely affect our body.

(a) X¶n«pÅ Nn{Xw \nco£n¨v a,  b,  c  F¶o `mK§Ä ASbmfs¸Sp¯pI.

(b) b F¶ `mKw ]qÀ®ambpw XSÊs¸«mÂ AXv Zl\ {]{Inbsb F§s\ _m[n¡pw.

(c) Cu {]kvXpX AhØ icocs¯ F§s\ lm\nIcambn _m[n¡pw ?

Scoring Key:

a) (a) Gall bladder (½)

(b) Common bile duct MP : 1 (½)

(c) Pancreas (½)

b) * Block release of bile

* Emulsification of fat does not occur MP: 6 (½)

* Lipid digestion become very slow.

c) Cause obstructive Jaundice. MP : 6 (1)

Total score : 4

Time : 5 min.

***



Chapter : 2

RESPIRATION IN ANIMALS

Qn: 1

C.O. 5

Question Text:

Observe the O
2
 dissociation curve given below:

(a) Identify the PO
2
, where 50% dissociation of HbO

2
 occurs in curve A.

(b) Identify the PO
2
, where 50% dissociation of HbO

2
 occurs in curve B.

(c) How the pH of blood will influence the % saturation of Hb and dissociation of HbO
2
.

(Hint. Increase in pH and Decrease in pH)

(above pH-7 below pH:7)

X¶n«pÅ HmIvknP³ Untkmkntbj³ IÀhv kw_Ôn¡p¶ {Km^v \nco£n¡pI.

(a) IÀhv A bnÂ 50%, HbO
2 
hnLSn¡p¶ PO

2 
I­ p] nS n¡pI.

(b) IÀhv  B bnÂ  50%,  HbO
2 
hnLSn¡p¶ PO

2 
I­ p] nS n¡pI.

(c) cà¯nse  pH Hb sâ saturation iXam\s¯bpw HbO
2 
hnLS\s¯bpw F§s\

_m[n¡p¶p.

kqN\ : pH IqSpt¼mÄ,   pHIpdbpt¼mÄ)

  (above : pH-7)      (below pH : 7)

Scoring Key:

(a) PO2 : 30 (½)

(b) PO2 : 50 (½) MP : 7, 6

(c) Increase in pH : Saturation of Hb increase (1)

(Alkaline) Dissociation of HbO
2
 decrease
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Decrease in pH : Saturation of Hb decrease

Dissociation of HbO
2
 increase

Time : 5 min.

Total score : 3

Qn: 2

C.O. 5

Question Text:

Complete the schematic diagram

kvIoamänIv Ub{Kw ]qÀ¯nbm¡pI

 Scoring Key:

MP : 6

Time : 5

Score : 3

Qn: 3

C.O. 5

Question Text:

(a) Using the above information, prepare a schematic diagram showing the passage of O
2
 from

surrounding air to tissue.

Inspired
Air
158

mm Hg

Alveolar
Air
100

mm Hg

Deoxygenated
Blood

40 mm Hg

Oxygenated
Blood

95 mm Hg

Expired
Air

116

Tissue
Air

40PO
2

N
a
HCO

3



(b) PO
2
 of inspired air is 158, but the PO

2
 is reduced to 100 mm Hg in alveoli. How the reduction

in PO
2
 occurred in alveoli.

(c) If the PO
2
 of inspired air is reduced to 50 mm Hg, how the body respond to this change.

(a) X¶n«pÅ hnhcw D]tbmKn v̈, A´co£hmbphnÂ \n¶v IeIfnse¯p¶ amÀ¤w ImWn¡p¶

kvIoamänIv Ub{Kw

(b) DÑzmk hmbphnse PO
2 
158, BÂhntbmfknse¯pt¼mÄ 100 mm Hg Bbn Ipdbp¶Xnsâ

ImcWsa´v ?

(c) DÑzmkhmbphnse PO
2 
50 mm Hg  Bbn IpdªmÂ AXnt\mSv icocw F§s\ {]XnIcn¡pw ?

Scoring Key:

a)

b) Inspired air with PO
2
 - 158 mix with  residual air and reduces the PO

2
 to 100 mm Hg. (1)

- Increase in rate of breathing (1)

- Asphyxia

Time : 8

Score - 4

Qn: 4

C.O. 5

Question Text:

Graph shows the pulmonary pressure changes during inspiration and expiration.

(a) Make a conclusion from the graph (score 1)

(b) Comment on the mechanism for the above process. (score 2)

Air pressure
in the lungs

Time
Time

Inspiration Expiration
-
-
-
-
-



(a) X¶ncn¡p¶ {Km^nÂ \n¶pw Hcp \nKa\w Is­¯pI. (1)

(b) taÂ sImSp¯ {]{Inbbv¡v ImcWamhp¶ sa¡m\nkw FgpXpI.      (2)

Scoring key:

(a) During inspiration intra pulmonic pressure decreases and during expiration it increases.(1)

(b) Mechanism of inspiration & expiration

Actions of inter costal muscle, diaphragm etc.

Movement of ribs, sternum etc. thorasic pressure & volume. (2)

Qn: 5

C.O. 6

Question Text:

The continuous smoking caused the change in alveolar structure of a person from

fig. A to fig. B.

(a) Name the disorder related to this change.

(score 1)

(b) Comment on its prevention and cure

(score 2)

XpSÀ¨bmb ]pIhen aqew HcmfpsS BÂhotbmfIfpsS LS\ Nn{Xw A bnteXnÂ \n¶pw

Nn{Xw B bnteXpt]msebmbn.

(a) Cu amähpambn _Ôs¸« AkpJw GXv ? (1)

(b) CXnsâ {]Xntcm[ amÀ¤w NnInÕ F¶nhsb¡pdn¨v FgpXpI.     (2)

Scoring key:

(a) Emphysema (1)

(b) Symptomatic treatment only.

Bronchiodiators, Oxygen therapy, Antibiotics.

Stop smoking, avoid exposure to pollutants. (any four points 4 x ½ = 2

Qn: 5



C.O. 4

Question Text:

Complete the following table:

X¶n«pÅ ]«nI ]qÀ¯nbm¡pI.

Scoring key: MP. 2, 6

(a) Diaphragm and External-Intercostal (½)

(b) Diaphragm (½)

(c) Diaphragm, Internal intercostal, external and internal oblique muscle ? (1)

Time : 3 min

Score : 2

Qn: 5

C.O. 4

Question Text:

During normal inspiration a single inspiration takes 5 sec., but during strenuous muscular exercise

time for single inspiration reduces to 0.5 sec.

(a) Calculate the rate of respiration during exercise.

(Hint: Respiratory rate during normal condition is 12-16 times/min)

(b) Name the area of brain which control rate of respiration.

(c) How the rate of respiration is varied during exercise ?

(a) km[mcW izk\ {]{InbbnÂ Hcp DÑzmk¯n\v 5 sk¡â v kabw th­n hcp¶p.

F¶mÂ ITn\ hymbma¯nÂ GÀs¸Spt¼mÄ Hcp DÑzmk¯n\pth­ kabw 0.5

sk¡â v Bbn Ipdbp¶p.

(a) hymbma kabs¯ izk\ \nc¡v Is­¯pI.

(kqN\ : izk\ \nc¡v km[mcW izk\ {]{InbbnÂ 12þ16 F®w / an\näv BWv)

(b) izk\ \nc¡v \nb{´n¡p¶ Xet¨mdnsâ `mKw GXv ?

(c) izk\ \nc¡v hymbma kab¯v IqSp¶sX§s\ ?

Scoring key: MP : 6, 5

Sl. No. Respiration Muscles / Structure Involved

a Active Inspiration

b Passive Expiration

c Active Expiration



(a) 12 - 160 times / min. (1)

(b) Respiratory centre (Medulla oblongata) (½)

(c) (i) Pneumotaxic centre get stimulated (½)

(ii) It sends strong signals to dorsal respiratory centre.

(iii) Dorsal Respiratory centre sends impulse to inspiratory muscles.

Score : 3

Time : 5 min

***



Chapter :3
CIRCULATION IN ANIMALS

Qn: 1

C.O. 7

Question Text:

The diagram shows the structure of heart during Auricular systole.

(a) Redraw this diagram to show the structure of heart during ventricular systole.

(b) Prepare a flow chart showing the flow of cardiac impulse during working of heart.

Bdn¡nÄ kntÌmÄ kabs¯ LS\ hyàam¡p¶ tcJmNn{Xw \ÂInbncn¡p¶p.

(a) sh³{Sn¡nÄ kntÌmÄ kabs¯ LS\ hyàam¡p¶ Nn{Xambn amän hcbv¡pI.

(b) lrZb {]hÀ¯\ kabs¯ Cw]ÄkpIfpsS ]mX hyàam¡p¶ ̂ vtfm NmÀ«v \nÀ½n¡pI.

Scoring Key:

(a) MP : 7, 3, 4

Semi lunar valve

A V valve



(b)

Qn: 2

C.O. 8

Question Text:

Survey Age Group

Survey Project conducted by students on Cardio-Vascular diseases show the above conclusion.

Observe the graph and answer the following questions.

(a) Write your observation and inference from the above graph.

(b) Can you give any 2 reasons for your observation.

(c) Suggest any 2 precautions to reduce this condition.

lrZb kw_Ôamb tcmK§sf Ipdn¨v Ip«nIÄ \S¯nb kÀtÆ t{]mPIvSnsâ \nKa\w

{Km^nsâ cq]¯nÂ \ÂInbncn¡p¶ {Km^v \nco£n¨v \ÂInbncn¡p¶ tNmZy§Ä¡v D¯cw

FgpXpI.

(a) {Km^nÂ \n¶pÅ \nco£W§fpw e`n¨ \nKa\§fpw Fs´ÃmamWv.

(b) \nco£W§sf km[qIcn¡p¶ c­v ImcW§Ä.

(c) C¯cw AhØ Hgnhm¡m\pÅ c­v ap³ IcpXepIÄ Gh ?

S A node

Muscles of Auricle

A V node

A V Bundle

Right and Left Bundle

Purkinje Fibres

Muscles of Ventricle

Time : 6 min
Score : 4

35
25
15
  5

1-20  21-40  41-60  61-80

-
-
-
-
-
-

-
-
-
-

-
-
-

-
-

Percentage of BP
patients



Scoring Key:

(a) i) Percentage of BP patients increases with increase in age.(1)

(b) ii) Hardening of arteries occur with increasing age. (1)

Deposition of cholesterol on blood vessels.

(c) Regular exercise

Avoid fatty food.

Time : 5 min

Score : 3

Qn: 3

C.O. 7

Question Text:

Complete the Table:

(¼  x 8 = 2)

]«nI ]qÀ¯oIcn¡pI MP : 4

Scoring Key:

a) Lymphocyte d) Years g) Release Histamine

b) Platelet e) Phagocytosis (h) Phagocytosis

c) 120 days f) Allergic response (i) Clotting of Blood

Time : 6 min

Score : 4

Blood cells Life Span Function

RBC (c) O
2
 Carrying

Neutrophil 6 hrs - few days       (e)

Eosinophil 8 - 12 days       (f)

Basophil hrs to few days       (g)

Monocyte Months       (h)

      (a)         (d) Immune Proteins

      (b) 5 - 10 days          (i)



Qn: 4

C.O. 8

Question Text:

“Human circulation is double, but foetal circulation is single.

(a) Name the circulation which is function less in foetus.

(b) How the blood from right side of foetal heart matches left side.

(c) Prepare a diagrammatic representation

(out line diagram) of human adult pulmonary circulation.

a\pjy³ Zzn]cyb\ hyhØbpÅ PohnbmWv. F¶mÂ KÀ`Ø iniphnÂ Hcp ]cyb\

hyhØtb ImWp¶pÅq.

(a) KÀ`Ø iniphnÂ [À½anÃm¯ ]cyb\ hyhØ GXv ?

(b) KÀ`Ø iniphnsâ lrZb¯nse heXv AdIfnse càw CSXv his¯ AdIfnÂ

F¯p¶sX§s\ ?

(c) a\pjy\nse ]ÄaWdn cà ]cyb\ hyhØ hyàam¡p¶ Hcp Hu«v sse³ Ub{Kw

hcbv¡pI.

Scoring Key:

(a) Pulmonary circulation

(b) Through foramen ovale

(c)

Qn:

C.O. 7

Question Text:

Study the given diagrammatic representation.

(a) X marked in the figure is a blood vessel

Name the blood vessel marked as X. (1)

(b) Give the importance of circulation between these two organs. (1)

(c) Identify and diagrammatically represent a similar circulation present in our body. (3)

Liver Intestine

X



X¶ncn¡p¶ tcJm Nn{Xw {i²n¡pI.

(a) X F¶Sbmfs¸Sp¯nbncn¡p¶Xv Hcp cà¡pgemWv. AXnsâ t]scgpXpI. (1)

(b) Cu c­v Ahbh§Ä¡nSbnse cà ]cyb\¯nsâ {]m[m\yw FgpXpI ?

(c) CtX Xc¯nepÅ asämcp cà ]cyb\w \½psS icoc¯nep­ v. AXv Is­¯n tcJm

Nn{Xcq]¯nÂ hcbv¡pI.

Scoring Key:

(a) Hepatic portal vein.

(b) Transport of nutrients from intestine to liver for detoxification and storage.

(c)

Qn:

C.O. 8

Question Text:

(a) The stroke volume of a normal person is 70 ml / beat.

Find out his cardiac output.

(Hint : Cardiac output = stroke vol  x  No : of beats / min)

(b) Complete the following table :

(a) 70 ml / beat kvt{Sm¡v thmfnbw DÅ Hcp a\pjysâ ImÀUnbmIv Hu«v]p«v Is­¯pI.

(kqN\ : ImÀUnbmIv Hu«v]p«v = kvt{Sm¡v thmfnbw x lrZbanSn¸nsâ \nc¡v)

Scoring Key:

(a) Cardiac output = 70 x 72 = 5 lit / min. (5.4 lit / min)

(b)

Hypothalamus Pituitary

Hypophysial portal vein

Heart sound Reason

Ist ------------- ------------

IInd ------------- ------------

Heart sound Reason

Ist Lub closure of AV valve

II nd Dub closure of semi lunar valve



Qn: 6

C.O. 8

Question Text:

Lymph is formed from blood and it return back to blood.

(a) How lymph reaches the blood

(b) Functions of lymph.

enw^v cà¯nÂ \n¶v D­mIpIbpw cà¯ntebv¡v Xncn¨v tNcpIbpw sN¿p¶p.

(a) enw^v cà¯ntebv¡v Xncns¨¯p¶ ]mX hnhcn¡pI.

(b) enw^nsâ [À½sa´v ?

Scoring Key:

(a) Lymph --- lymph vessel -- lymph node

Right lymphatic duct

Left thorasic duct (2)

Subclavian vein

Heart

(b) Provide immunity, Transport lipids. (1)

Time : 5 min.

Total score - 3

Qn: 7

C.O. 8

Question Text:

Working condition of heart can be clearly recorded in ECG. Give any deformities that a

cardiologist can identify from ECG.

lrZb {]hÀ¯\§sf hyàambn tcJs¸Sp¯m³ C.kn.Pn. bv¡v Ignbpw. C.kn.Pn. bnÂ \n¶pw

Hcp lrt{ZmK hnZKv²\v a\Ênem¡m³ Ignbmhp¶ lrZb {]hÀ¯\ hyXnbm\§Ä Gh.

Scoring Key:

1. Myocardial infarction

2. Insufficient O2 to cardiac muscle.

3. Rheumatic fever.

4. Angina

5. Acute Myocardial infarction.

(Any other cardio vascular disorders)

Time : 4 min.

Total score - 2

***



Chapter :3
OSMOREGULATION & EXCRETION IN ANIMALS

Qn: 1

C.O. 9

Question Text:

Given below are parts of human excretory system Arrange them in order in the direction of movement

of urine.

Renal pelvis Collecting duct

Calyx Duct of Bellini

Urethra Papilla

Uninary Bladder

Ureter

\ÂInbncn¡p¶ hnkÀP\ hyhØbpsS `mK§sf aq{Xw ]pdt¯bv¡v  t]mIp¶

coXnbv¡\pkcn¨v {IaoIcn¡pI.

Scoring Key:

Collecting duct

Papilla Outside

Calyx Urethra

Renal Pelvis Ureter Urinary Bladder

Score - 2

Time- 4 min

Qn: 3

C.O. 9

Question Text:

Observe the figure.



Answer the following questions:

(a) Identify whether the fish is fresh water fish or a marine fish.

(b) Justify your answer.

(c) How the fish maintains osmoregulation in this condition.

\ÂInbncn¡p¶ Nn{Xw \nco£n¨v tNmZy§Ä¡v D¯cw FgpXpI.

(a) Nn{X¯nÂ ImWp¶Xv ISÂ aÕyamtWm ip²Pe aÕyamtWm ?

(b) D¯cw km[qIcn¡pI.

(c) aÕyw HmkvtamsdKptej³ Cu AhØbnÂ \S¯p¶sX§s\ ?

Scoring Key:

(a) Fresh water fish. (½)

(b) Osmolarity of surrounding water 50 m Osm./Lit. less than body osmolarity. (1)

(c) Excrete more dilute urine.

Do not  drink water.

Minimum loss of salt. (1½)

Chloride cells absorb ions from surrounding water.

Time : 4 min.

score - 3

Qn: 4

C.O. 10

Question Text:

Observe the graph and answer the following questions:

A and B represent osmolarity of 2 different fishes.

(a) Give an example for the fish belonging to type B

(b) How the fish maintains such high osmolarity.

(c) How the animal is benefited of maintaining such high osmolarity.

{Km^v \nco£n¨v tNmZy§Ä¡v D¯cw \ÂIpI.

A, B F¶nh hyXykvX  osmolarity DÅ c­ v  aÕy§fmWv.

(a) ‘B’ Xc¯nÂs¸Sp¶ Hcp aÕy¯n\v DZmlcWw FgpXpI.
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(b) {]kvXpX aÕyw F§s\ C¯c¯nÂ DbÀ¶ osmolarity \ne\nÀ¯p¶p ?

(c) aÕy¯n\v DbÀ¶  osmolarity \ne\nÀ¯p¶Xp sIm­pÅ t\«sa´v ?

Scoring Key:

(a) Shark (½)

(b) Stores osmolytes in their body. Eg : TMO, Urea etc. (1)

(c) Help to keep the body isotonic with the surrounding sea water. (1½)

Time : 5 min.

score - 3

Qn: 5

C.O.10

Question Text:

Alcohol beverage contain ethanol, which inhibit the secretion of ADH by pituitary

Draw a flow chart showing the action of ethanol and its consequences on urinary system.

aZy¯nÂ AS§nbncn¡p¶ FYt\mÄ ]näyq«dnbnÂ \n¶pw ADH DXv]mZ\w

XSbp¶p. hnkÀP\ hyhØbnÂ FYt\mÄ krjvSn¡mhp¶ ]cnWnX ̂ e§Ä ImWn¡p¶

^vtfmNmÀ«v X¿mdm¡pI.

Scoring Key:

Alcohol MP : 7, 6

Ethanol

ADH from Pituitary Production of dilute urine

Collecting duct become

impermeable

Score : 3

Time : 6 min.

Qn: 6

C.O.10

Question Text:

Prepare a flow chart showing hormonal control by Juxta glomerular apparatus (JGA) in regula-

tion of kidney function.

contains

inhibit

Reduced water
reabsorption

Loss of water
from body



InUv\nbpsS {]hÀ¯\s¯ \nb{´n¡m³ Juxta glomorular apparatus sâ [À½w

hyàam¡p¶ Hcp ^vtfm NmÀ«v X¿mdm¡pI.

Scoring Key:

JGA MP : 7, 6

Renin

angiotensinogen Angiotensin II

Increased Blood Pressure Increased Blood volume

PCT - absorb more Stimulate
water and salt adrenal gland

Aldosterone
DCT-absorb more H

2
O & salt

Score : 3

Time : 6 min.

Qn:

C.O. 9

Question Text:

Redraw the diagram and mark the osmolarity correctly.

Nn{Xw amän hc¨v Hmkvsamfmcnän icnbm¡n FgpXpI. (score 3)



Scoring Key:

For each correct markings ½ score

6 x ½ = 3

***



Chapter : 5
MOVEMENT AND LOCOMOTION IN ANIMALS

Qn: 1

C.O. 11

Question Text:

Arrange the following bones into two columns and give proper heading to each columns.

Scapula, Carpals, Femur, Fibula, Tibia, Tarsals, Metatarsals, Radius, Humerus, Glenoid

cavity, Clavicle, Metacarpals, Phalanges, Patella, Ilium, Ischium, Pubis, Acetabulum.

Xmsg X¶ncn¡p¶ AØnIsf c­v tImf§fmbn Xcw Xncn¡pI.

Ahbv¡p th­ Xes¡«v \ÂIpI.

Scoring Key:

Pectoral girdle and       Pelvic girdle and

Bones of fore limb     Bones of Hind Limb

Clavicle Ilium

Scapula Ischium

Humerus Pelvis

Radius Femur

Ulna Patella

Carpals Tibia

Metacarpals Fibula

Phalanges Metatarsal

Phalanges

Score : 2

Time : 5 min.

Qn: 2

C.O.

Question Text:

(a) Label any four parts in the given figure. (4 x ½ = 2)



(b) Redraw the figure to show condition after muscle contraction.

(a) Nn{X¯nÂ GsX¦nepw \mep `mK§Ä ASbmfs¸Sp¯pI. (2)

(b) t]io kt¦mNw ImWn¡p¶ coXnbnÂ Nn{Xw amän hcbv¡pI. (1)

Answer Key:

(a) (4 x ½ = 2)

(b) (1 score)

Qn: 3

C.O. 2

Question Text:

Muscle  examination details of 2 individuals are given in table.

   A         B

Has more red Muscles  Has more white Muscles.

1. By considering the above details in which event will you place these contestants

(sprint or Marathon)

(2) Justify your answer on the basis of characteristics of Red and White muscles.

(Hint: Sprint : Short distance race

Marathon : Long distance race)

c­v hyXykvX sNdp¸¡mcnse t]io ]co£W dnt¸mÀ«v ]«nIbnÂ \ÂInbncn¡p¶p.

(1) ]«nI A]{KYn¨v A, B F¶nhsc GXv aÕc¯n\mbn XncsªSp¡pw ?

({lkzZqc Hm«w, amct¯m¬)

(2) \n§fpsS Xocpam\s¯ Red, White t]inIfpsS kz`mh¯nsâ shfn¨¯nÂ km[qIcn¡pI.

Scoring Key: MP : 6, 7

(a) A in Marathon

B in Sprint events (2)



ReticulumCa++

(b) A has more red muscles

- more mitochondria

- more myoglobin

- can store more energy

hence can have prolonged muscle action (1)

B has  more white muscles

- they are fast twitch muscles

- has myoglobin

- has less of mitochondria.

hence have short duration muscle action. (1)

Time : 6 min.

score - 3

Qn: 12

C.O. 4

Question Text:

A live muscle connected to a neuron is stimulated at region A. Stimulaltion results in contraction

of muscle.

(a) Draw a flow chart showing the flow of stimulus that results in muscle contraction.

(Hint: Action potential, Neuromuscular Junction, Sarcoplusmic reticulum)

\mUotImihpambn _Ôs¸«p \nÂ¡p¶ Poh\pÅ Hcp t]in Nn{X¯nÂ \nco£n¡pI.

\mUnsb A F¶ Øe¯v Dt¯Pn¸n¨t¸mÄ t]in kt¦mNn¡p¶Xmbn I­p.

(a) BthK§fpsS amÀ¤hpw AXpaqeap­mb t]io kt¦mNhpw hyàam¡p¶ Hcp ^vtfm

NmÀ«v \nÀ½n¡pI.

Scoring Key:

Action Potential Neuromuscular Junction Release of

Sarcoplasmic Neurotransmitter

Release

Time : 5 min.

score - 2



Qn :  5

10 : 12

Question Text

A – Region of stimulus

B – Latent phase

C – Contraction phase

D – Relaxation phase

The graph shows the contraction of muscle by a single stimulus.  Even the stimulus is

applied at region A, contraction started at B.

a)  Molecular mechanisms occurring during latent phase.

t]inbpsS {]hÀ¯\w ImWn¡p¶ {Km v̂ \nco£n¡pI.  Dt¯P\w A F¶

t]mbnânÂ \ÂInsb¦nepw kt¦mNw XpS§nbXv B F¶ `mK¯mWv.

a)  t]io {]hÀ¯\w teäâ v t^knÂ F§s\ ?

Scoring key :

Creation of action potential

Release of Neurotransmitter at Neuromuscular Junction

Stimulation of Sarcoplasmic reticulum

Release of Ca ++

Release of Ca ++ to troponin

Starting of Muscle contraction Score – 3

Time – 6 mts

 

Ca++ Troponin active site of
      actin

Muscle Myosin
Contraction Cross bridge

formation

binds expose



1. CO :  13

     Mental Process : 1, 2, 6

Question Text :

Find out the relationship between the given words and complete the blanks a, b, c and d.

Cranial nerve Organs innervated Sensory / motor / mixed

         a Thorasic and abdominal organs Mixed

Trigeminal Face, Jaw, Scalp b

         c Ear d

X¶ncn¡p¶ hm¡pIÄ X½nepÅ _Ôw a\Ênem¡n

a, b, c,  d F¶nh ]qÀ¯nbm¡pI.

Scoring Key :

a. Vagus

b. Mixed

c. Auditory

d. Sensory

( ½ x 4 = 2 score)

Time – 2 minutes

2) CO :  14

MP : 2, 7, 6

Question Text :

The polarity of a resting neuron is given in the picture.

+ + + + + + + + + + + + +

-– – – – – – – – – – – – – –

-– – – – – – – – – – – – – –

+ + + + + + + + + + + + +

a. Name the mechanism by which this polarity is maintained ? (1)

b. The cytoplasm inside the nerve fibre contain more K+ ions than out side.  But there is a net

negative charge inside.  Give reason. (1)

c. Give the changes that may take place in this nerve fibre when a stimulus is

received by it. (2)

-----------------

-----------------

-----------------

-----------------



Hcp sdÌnwKv \yqtdmWnse s]mfmcnänbpsS Nn{Xw X¶ncn¡p¶p.  t]cv FgpXpI.

a. Cu s]mfmcnän \ne\nÀ¯p¶ kwhn[m\¯nsâ t]cv FgpXpI. (1)

b. s\Àhv ss^_dn\pÅnse tImi{Zhy¯nÂ ]pdtabpÅXns\ At]£n v̈ [mcmfw K+

AtbmWpIÄ Ds­¦nepw tImi{Zhy¯n\pÅnÂ –ve NmÀÖv Xs¶bmWv.  CXnsâ

ImcWw FgpXpI. (1)

c. Hcp D±o]\w kzoIcn¨Xn\ptijw Cu \Àhv ss^_dnÂ kw`hn¡mhp¶ amä§Ä

FgpXpI. (2)

Scoring Key :

a. Na-K Pump./

b. The organic ions / proteins inside the nerve fibre impart net negative charge.

(1)

c. Na-k pump stops, inflow of Na+, Reversal of resting potential, deploarisation, repolarisation

Generation of action potential, propagation of AP. ( A

summary with at least  4 points  ½ x 4 = 2)

Time – 4 minutes

3) CO :  13

MP : 2, 3

Question Text :

Find the relation between given words and fill the gap.

a. Purkinje fibres : heart, Purkinje cells : ................................. (1)

b. Sympathetic system : Thoraco lumbar out flow

Parasympathetic system : .......................... (1)

X¶ncn¡p¶ hm¡pIÄ X½nepÅ _Ôw ]Tn v̈ hn«`mKw ]qcn¸n¡pI.

Scoring Key :

a. Cerebellum. b. Cranio sacral out flow (1x2 =2)

Time – 1 minutes

4) CO :  13, 15

MP : 2, 6, 7

Question Text :

Suppose you dramatically escaped from a motor accident.  Your heart beat and rate of

respiration was increased at that moment.

a.  Name the hormone involved in this change. (1)

b.  Which part of nervous system control these actions ? (1)

c.  Enlist the other physiological changes that you may feel at that time (2)



Hcp tdmU]IS n̄Â \n¶pw \n§Ä \mSIobambn c£s¸«p F¶p IcpXpI.  \n§fpsS

lrZb kv]µ\w, izk\ \nc¡v F¶nh At¸mÄ hfsc hÀ²n¨p.

   a.  Cu amä¯n\v ImcWamb tlmÀtam¬ GXv ?

   b.  GXv \mUohyql`mKamWv Cu {]hÀ¯\§sf \nb{´n¡p¶Xv ?

   c.  B kab¯v D­mImhp¶ aäv imcocnI amä§Ä FgpXpI. (2)

Scoring Key :

a. Adrenaline & nor adrenaline / Emergency hormone (1)

b. Autonomous nervous system / medulla oblongata (1)

c. High metabolic rate

High BP, High body temperature

High levels of glucose in blood

Pupil dialates.  Hair raised (Any four points ½ x 4 =2)

Time – 5 minutes

5) CO :  14

Figure : 12

MP : 2, 5

Question Text :

Observe and study the picture.

a.  Name the mechanism shown in the figure. (1)

b.  Label the parts a, b, c and d. (2)

c.  Comment on this process (2)

Nn{Xw \nco£n v̈ ]Tn¡pI.

a.    GXv {]{InbbmWv Nn{X¯nÂ \ÂInbncn¡p¶Xv ? (1)

 b.    a, b, c, dF¶nh ASbmfs¸Sp¯pI. (1)

c.    Cu {]{Inbsb¡pdn v̈ FgpXpI. (2)

Scoring Key :

a. Synaptic impulse transmission.

b.       a.  Myelin sheath,     b.  Axon,    c.  Synaptic vesicle,    d.  Synapse / Synaptic cleft.

c. Impulses reach axon, synaptic vesicle burst, neurotransmitters released, they moves through synapse,

Receptor proteins of post synaptic membrane bound with    neurotransmitters, ion channels open,

Na+ ions enter into dendrones, impulse is transmitted.

(A summary with 4 points  ½ x 4 =2 marks)

Time – 5 minutes



6) CO :  14

MP : 5, 6

Question Text :

Observe the picture of two neurons, X and Y

a.  In which of the given neuron impulse transmission is rapid ? (1)

b.  Justify your answer (2)

X¶ncn¡p¶ X, Y F¶o \yqtdmWpIfpsS Nn{Xw \nco£n¡pI.

   a.  GXv \yqtdmWnemWv BthK {]kcWw thK¯nÂ \S¡pI. (1)

   b.  \n§fpsS D¯cs¯ km[qIcn¡pI. (2)

Scoring Key :

a. Impulse transmission is rapid in Y.

b. Y is a myelinated neuron.  Myelin sheath increases the speed of impulse transmission.  Here AP

jumps from one node to next.  Saltatory propagation.

(A summary with 4 points  ½ x 4 =2)

Time – 4 minutes

7) CO :  13

 MP : 2, 6, 7

Question Text :

While playing cricket the ball hit a boy’s head.  He immediately vomited and felt difficulty

to breath.

a.  Identify the part a brain which may be affected by the incident (1)

b.  Give functions of this particular part of brain (2)

{In¡äv Ifn¡p¶Xn\nsS Hcp Ip«nbpsS Xebv¡v {In¡äv t_mÄ ]Xn¨p.  Ah\v

DSs\ Xs¶ OÀ±nbpw izmkXSkhpw A\p`hs¸«p.

a.  Xet¨mdnsâ GXv `mK¯n\mWv Cu kw`hw aqew A]ISw ]änbn«p­mhpI

   F¶v Is ­¯pI. (1)

   b.  Xet¨mdnsâ Cu {]tXyI `mK¯nsâ [À½w FgpXpI (2)



Scoring Key :

a. Medulla oblongata (1)

b. Controls heart beat, regulate respiration control circulation, control digestion, control peristalsis etc.

(4 points  ½ x 4 =2 score)

Time – 4 minutes

8) CO :  13

MP : 4, 7, 10

Question Text :

Our brain weights 1.4 kgs.  But we never feel its actual weight.  Can you explain the reason

behind this fact. (2)

\½psS Xet¨mdn\v  1.4 kg ̀ mcap­v.  ]t£ CXnsâ bYmÀ° ̀ mcw \ap¡v Hcn¡epw

A\p`hs¸Sp¶nÃ.  CXnsâ ImcWw hniZoIcn¡mtam ?

Scoring Key :

Brain is protected inside meninges.  Meninges contain CSF.  CSF provide buoyancy to brain.

So weight is reduced from 1.4 kg to 0.18 kg. (2)

Time – 2 minutes

Score : 2

9) CO :  14

MP : 1, 7, 10

Question Text :

Observe the picture

a.  Identify the part labeled as  V (1)

b.  In our retina there are more rod cells than

cones.  But our vision in darkness is poor. Give

scientific explanation to this fact.

(2)

Nn{Xw \nco£n¡pI.

   a.  tcJs¸Sp¯nbncn¡p¶ V F¶ `mKw GXv ?

   b.  \½psS ZrjvSn]Se¯nÂ tdmUp tImi§Ä IqSp-XÂ Ds­¦nepw Ccp«nÂ \ap¡v

     ImgvN iàn IpdhmWv.  Cu hkvXpXbpsS imkv{Xob ImcWw FgpXpI. (2)

Scoring Key :

a. Yellow spot / macula Lutea / Fovea (1)



b. Image forms normally on yellow spot.  In yellow spot rods are less and cones are more.  So low dim

light vision. (2)

Time : 4 minutes

Score : 3

10) CO :  13, 23

MP : 6, 7

Question Text :

A patient approaches doctor with a problem that he was not able to sleep for the last 6

months.  The doctor said that it may be due to the defect in the ‘relay centre of his brain’ and advised

him to take sedative pills.

a. Which part of brain is described here ‘as relay centre’ ? (1)

b.  What are the action of sedative pills in body ? (2)

Ignª Bdv amkambn Dd§m³ Ignbm¯ Hcp tcmKn tUmIvSsd kao]n¡p¶p.

Xet¨mdnse ‘dnte skâdnsâ’ \yq\X ImcWamWv Cu {]iv\sa¶v tUmIvSÀ ]dbp¶p.

sktUäohv KpfnIIÄ Ign¡m³ tUmIvSÀ \nÀt±in¡p¶p.

   a.  ‘dnte skâÀ’ F¶v ChnsS {]Xn]mZn¨ncn¡p¶ Xet¨mdnse `mKtaXv ? (1)

  b.  sktUäohv KpfnIIÄ icoc¯nÂ {]hÀ¯n¡p¶Xv GsXÃmw coXnbnemWv ?

(2)

Scoring Key :

a. Thalamus (1)

b. Sedative pills work in the Thalamus and prevent the transmission of impulses to cerebrum.

Depress brain activity produce feelings of calmness, relaxation drowsiness and deep sleep.

(2)

Time : 4 minutes

Score : 3

11) CO :  14

MP :  1, 2, 8

Question Text :

A sharp tap is given at your knee cap with rubber hammer.  You suddenly stretch your leg.

a.   Give name of this response (½)

b.   Which nerve centre is involved in this action (½)

c.    Construct a flow chart for the pathway of impulses in this action (2

Hcp dºÀ NpänIbp]tbmKn v̈ \n§fpsS ImÂ ap«nÂ X«p¶p.  \n§Ä ImÂ s]s«¶v

\o¡p¶p.

   a.  Cu {]XnIcWw F´pt]cnednbs¸Sp¶p. (½)



  b.  GXv \mUotI{µamWv Cu {]hÀ¯\¯nÂ ]s¦Sp¡p¶Xv ? (½)

   c.  Cu {]hÀ¯\¯nÂ BthK§fpsS k©mc]mX hniZam¡p¶ ̂ vtfm

      NmÀ«v \nÀ½n¡pI. (2)

Scoring Key :

a. Reflex action / Normal (simple) reflexes (½)

b. Spinal cord (½)

c. Receptors in knee Sensory fibres

Inter neuron Motor fibres

effector  organsresponse (2)

Time : 4 minutes

Score : 3

12) CO :  14

MP :  3, 6

Question Text :

• Smell a food result in salivation

• Your hand withdraws when touched on a hot object.

How can you differentiate these two actions ? (2)

• `£W¯nsâ KÔw Dan\oÀ DÂ¸mZn¸n¡p¶Xn\v ImcWamhp¶p.

• NqSpÅ hkvXphnÂ sXm«mÂ ssI AdnbmsX ]n³hen¡s¸Sp¶p.

Cu c­p {]hÀ¯\§Ä X½nepÅ hyXymk§Ä FgpXmtam ?

Scoring Key :

a. Conditioned reflex.  Learned, acquired.

b. Simple reflex, inherited, not learned

Score : 2

Time : 3 minutes

13) CO :  14

MP :  8, 9

Question Text :

You are taking a sweet food item.  Construct a schematic diagram explaining the reception of

this sense. (3)

Hcp a[pcapÅ hkvXp \n§Ä cpNn¡p¶p.  cpNn Adnbp¶Xnsâ Hcp kvIoamänIv

Nn{Xw hcbv¡pI. (3)



Scoring Key :

(Pictures and writings should be there in schematic diagram along with arrow marks)

Score : 3

Time : 6 minutes



CHAPTER   7
1. CO : 15, 16

MP : 5, 6, 8

Question Text

A person suffering from hormonal imbalance has following symptoms.

Physical sluggishness, mental dullness low metabolic rate, dry skin, oedema, puffy face.

a.   Name the hormone deficient in the person (1)

b.   The body can automatically restore the amount of hormone.  Using given hints

develop a concept map for regulation of this hormone.  (Hints:- Hypo thalamus,

TSH pituitary, TRH etc.) (3)

tlmÀtam¬ XIcmdv aqew IjvSs¸Sp¶ Hcp tcmKnbpsS e£W§Ä \ÂInbncn¡p¶p.

imcocnI amµyw, am\knI aµX, Ipdª D]m]Nb \nc¡v, DW§nb

Xz¡v, \ocp hym]\w, \ocp hym]n v̈ hoÀ¯ apJw.

a. Cu hyànbnÂ IpdhpÅ tlmÀtamWnsâ t]cv FgpXpI. (1)

b.   icoc¯n\v tlmÀtamWnsâ \ne kzbw {IaoIcn¡m\pÅ kwhn[m\§Ä

D­v. \ÂInbncn¡p¶ kqN\IÄ DÄs¸Sp¯n tlmÀtam¬ {IaoIcW

¯nsâ concept map hc¡pI.  (kqN\IÄ : ssls¸m Xemakv, TSH  ]näyq«dn,  TRH

XpS§nbh) (3)

Scoring Key :

a. ssXtdmIvkn³ (1)

b.

(NB : In concept map there will be writings on the arrow marks to show the action / effect)

(3 score)

Time: 5 minutes

Total score : 4



2. CO : 15

MP : 1, 2

Question Text :

The sight or sound of a baby can induce secretion of a hormone in a nursing mother.

a.  Name the hormone (1)

b.  Give the functions of this hormone (2)

Hcp Ipªnsâ ImgvNtbm, Ic¨ntem t]mepw apebq«p¶ A½bnÂ Hcp tlmÀtam¬

DÂ¸mZ\¯n\v ImcWamtb¡mw .

a. Cu tlmÀtamWnsâ t]sc v́ (1)

b. CXnsâ [À½§Ä Gh ? (2)

Scoring Key

a. Prolactin / LTH (1)

b.   Promote growth of mammary glands.

Secretion of milk.

Keeps corpus luteum  functional

(any two 1 x 2 =2)

Time : 3 minutes

Score : 3

3. CO : 14, 15

MP : 2, 6

Question Text :

Execessive breast development is the problem of a boy who visited a doctor.  Doctor, after

scanning test found that the problem is due to tumour in one of his endocrine glands.

a.  Which gland is tumorous in boy ? (1)

b.  Identify the hormone responsible for the problem and give its functions.(2)

c.   Enlist the other hormone, produced by this gland (2)

kvX\§Ä AanXambn hepXmhp¶ tcmKhpambn Hcp B¬Ip«n tUmIvSsd

kao]n¡p¶p.  kvIm\nwKv sSÌv \S¯n Ip«nbpsS Hcp A´: {kmh {KÙn¡v SyqaÀ

_m[n¨n«ps ­¶v tUmIvSÀ Is­¯p¶p.

a. Ip«nbpsS GXv {KÙn¡mbncn¡mw SyqaÀ _m[n¨n«p­mhpI. (1)

b. kvX\ hfÀ¨bv¡nSbm¡nb tlmÀtam¬ GXmbncn¡mw.  CXnsâ

[À½§Ä Gh ? (2)

CtX {KÙn D­m¡p¶ aäv tlmÀtamWpIÄ GsXÃmamWv ? (2)

Scoring Key

a. Adrenal cortex (1)



b.   Oestrogen,  Functions  Follicle maturation, Female secondary sex characters.

Ovulation etc. (2 score)

d. Mineralo corticoid

(Aldosterone)

Gluco corticoid

(corticoid)

Sex corticoid

(Androgen

Oestrogen) (2 score)

Total score : 5

 Total time : 5 minutes.

4.   CO : 14

MP : 2, 6

Question Text :

Pancreas is found to be not functioning in a patient.  How this condition will affect

physiological functioning in him ? (3)

]m³{Inbmkv Hcp tcmKnbnÂ {]hÀ¯\clnXamsW¶v Is­¯n.  Cu AhØ

At±l¯nsâ imcocnI {]hÀ¯\§sf F§ns\ _m[n¡pw ?  (3)

Scoring Key

Pancreas is a mixed gland.

Produce hormones & enzymes.

Hormonal Imbalance problems due to insulin & glucagon(1½ score)

Problems in digestion due to absence of pancreatic juice (1 ½ score)

Total score : 3

 Time : 4 minutes.

5.   CO : 14

MP : 7, 9

Question Text :

A Lactating cow was treated by normal extract from placenta.  Prredict the effect of this

treatment in cow. (2)

]mÂ Npc¯p¶ Hcp ]iphn\v ¹mkâbnÂ \ns¶Sp¯ {Zhw Ip¯nhbv¡p¶p.  CXv

]iphnep­m¡mhp¶ ^ew Fs´¶v {]hNn¡pI. (2)

Scoring Key

Placental extract contains progesterone.   Progesterone inhibit LTH.  So lactation is reduced or

stopped. Time : 3 minutes

Score : 2



6.   CO : 14

MP : 5, 8, 10

The given bar diagram shows the relative amount

of glucose and insulin in a normal man.  Re draw the graph

to show the condition in a diabetic patient.

(1 score)

X¶ncn¡p¶ _mÀ Ub{Kw Hcp km[mcW AhØbnepÅ a\pjysâ icoc¯nse

¥qt¡mknsâbpw C³kpensâbpw AfhnepÅ _Ôw kqNn¸n¡p¶p.  Hcp Ub_änIv

tcmKnbpsS Cu AhØ Nn{XoIcn¡m³ {Km v̂ amän hcbv¡pI.

(1 score)

Scoring Key:

1 socre

Time : 2 minutes.

7.   CO : 14

MP : 5, 6, 7

Question Text :

The curves show the rate of reproductive growth in two girls A and B.  Girl A usually eat

eggs, meat and broiler chicken.  Girl B is of normal dietary habit.

a.  Analyze the graph and write your conclusion. (2)

b.  Which hormone is responsible for this effect. (1)

c.  Give functions of this hormone (2)

A, B  F¶o c­v s]¬Ip«nIfpsS sseKoI hfÀ¨bpsS {Km^v \ÂInbncn¡p¶p.  A

s]¬Ip«n km[mcWbmbn ap«, amwkw, t{_mbneÀ tImgnbnd¨n F¶nh Ign¡mdp­v.  B

s]¬Ip«n km[mcW ̀ £W ioew am{XapÅhfmWv.
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a.  {Km v̂ A]{KYn v̈ \nKa\§Ä FgpXpI. (2)

b.  Cu AhØbv¡v ImcWamhp¶ tlmÀtam¬ GXv (1)

c.  Cu tlmÀtamWntâ [À½§Ä FgpXpI

Scoring Key

a.   (1) A – Pre mature puberty

(2) B -  Normal puberty

(3) Normally  girls attain puberty at the age of 11 or 12.

(any two – 2 score)

b.   Oestrogen. (1)

c.   Control development of ovaries, growth of vagina, uterus etc.

growth of mammary glands.

control ovulation, menstrual cycle etc.

(any four points ½ x 4 = 2)

Total score : 5

Total time : 5 mts



CHAPTER 8

1) Curriculum objectives : 15, 16, 18

Mental Process : 1, 5, 6

Question Text :

Observe the flow chart showing the hormonal control of Menstrual cycle

a)  Observe and name the hormones A, B, C and D 2 score

b)  Copy the flow chart and represent the feed back mechanism in that .

2 score

Question Text:

BÀ¯h N{I¯nsâ tlmÀtam¬ \nb{´Ww ImWn¡p¶ ̂ vtfm NmÀ«v \nco£n¡pI.

a)  ̂ vtfmNmÀ«v \nco£n v̈ A, B, C, D F¶nh GXv tlmÀtam¬ BsW¶v

]dbpI.

b) v̂tfm NmÀ«v ]IÀ¯n AXnÂ ̂ oUv _m¡v hyhØ ASbmfs¸Sp¯pI.

Scoring Key :

(a)  A – FSH,  B – LH

(c) Estrogen,  D – Progesterone ( ½ x 4 = 2)

M.P   1.5

Anterior Pituitary

A

Ovary

Follicle maturation

C

B

Ovary

Formation of corpus luteum

D



2 score

M.P – 6

Time : 5 mts

Score : 4

2) CO : 17

M.P : 1, 4, 10

Question Text :

Observe the diagrams in A and B

(a) Identify the modes of reproduction in the above diagrams A and B.     (1 score)

(b) Compare the above reproduction with Higher animals (1 score)

(c) Find out the merits and demerits of above reproduction (2 score)

Anterior Pituitary

FSH

Ovary

Follicle maturation

Oestogen

LH

Ovary

Formation of corpus luteum

b

Progesterone



Question Text:

apIfnÂ sImSp¯ncn¡p¶ A, B F¶o Nn{X§Ä \nco£n¡pI.

(a) F, _n F¶ Nn{X§fnÂ ImWp¶ {]Xypev]mZ\w Fs´¶v I­p

]nSn¡pI. (1)

(b) Cu {]XypÂ]mZ\w DbÀ¶Xcw PohnIfpsS {]Xypev]mZ\hpambn

XmcXayw sN¿pI. (1)

(c) apIfnÂ ImWn¨ncn¡p¶ Xcw {]Xypev]mZ\¯nsâ KpW§fpw

tZmj§fpw I­p]nSn¡pI. (2)

Scoring Key

(a) Fission in Amoeba – A

Budding in Hydra – B ½ x 2 = 1

M.P = 1

(b) Comparison between asexual and sexual Reproduction with two differences

½ x 2 = 1

M.P = 4

(c) Merits and demerits of Asexual reproduction.

Merit : Single parent produce large number of individual within a short time.

Demerit : No recombination, No variation ½ x 4 =2

M.P = 10

Score : 5

Time : 6 mts

3) C.O : 18

M.P – 1, 7

Question text :

Observe and study the diagram

(a) Identify the process ‘X’ and mention the hormone regulating. 1 ½ score

(b) Name the cells in ‘Y’.  If the two cells are separated what will be the result ?

1 ½ score



Question Text:

Nn{Xw \nco£n v̈ ]Tn¡pI.

(a) ‘X’ ImWn¨ncn¡p¶ {]hÀ¯\w F´msW¶v I­p]nSn v̈ AXnÂ hcp¶ tlmÀtam¬

Fs´¶pw hyàam¡pI.

(b) ‘Y’ ImWn¨ncn¡p¶ tImi§Ä GsX¶v ]dbpI.  Cu c­v tImi§fpw ]qÀ®ambpw

thÀXncn¨mÂ F v́ kw`hn¡pw.

Scoring Key

(a) Ovulation ½ score M.P 1

LH and Oestrogen ½ x 1 = 1 score M.P. 7

(b) Blastomeres ½ score M.P 1

Formation of Identical twins 1 score M.P. 7

3 score

4 mts

4) CO : 17

M.P: 1, 5, 9

Question text :

The diagram of human blastocyst  is given below.

(a) Identify A and B 1  score

(b) Mention the fate of ‘B’ 1  score

(c) Copy and fill the given flow chart showing the fate of A

Ectoderm                   Nevous system , ………………

A ……....... Muscles, ……………………...

………… ………………, ……………….

3 score

Question Text:

a\pjy »mtÌm knkvänsâ Nn{Xw Xmsg sImSp¯ncn¡p¶p.

(a)  A bpw B  bpw Fs´¶v I­p ]nSn¡pI. (1 score)

(b) B ¡v hn[n¨ amäw FgpXpI.  (1 score)

(c) X¶ncn¡p¶ v̂tfm NmÀ«v hc v̈ A ¡v hn[n¨ amäw hyàam¡pI.

(3 score)

 



Scoring Key

(a) A – Inner cell mass

B – Trophoblast ½ x 1 = 1 score  M.P = 1

(b) B – It is converted into placenta 1 score  M.P = 5

(c)

Ectoderm - Nervous systems Skin etc  ½ x 6 = 3  M.P = 9

A                           Mesoderm - Muscles, Blood etc

Endoderm - Stomach, gastric glands etc. Score : 5

Time : 6 mts

5) C.O : 18, 19

M.P – 4

Question text :

Arrange the given events in correct order into two columns.  Give appropriate headings to each

column.

Zygote formation, organogenesis, syngamy,

Morphogenetic movements, cleavage, cortical reaction

Capasitation, Blastulation, Acrosomal reaction 3 score

Question Text:

X¶ncn¡p¶ {]hÀ¯\§Ä icnbmb {Ia¯nÂ c­v tImf§fmbn FgpXpI.  Hmtcm

tImf¯n\pw A\ptbmPyamb Xe hmNIw sImSp¡pI.

Scoring Key 3 score

         Fertilization           Embryonic Development

1. Capasitation 1. Zygote formation

2. Acrosomal reaction 2. Cleavage

3. Cortical reaction 3. Blastulation

4. Syngamy 4. Morphogenetic movements

5. Zygote formation 5. Organogenesis

Score : 3

Time : 4 mts

6) CO : 24, 17

M.P : 6, 10

Question Text :

 There is only a single testis in the scrotal sac of a boy.  In a scanning examination Doctor found

that the other testis remains in the abdomen.

 



 (a) Is this condition make the Boy sterile.  Justify your answer. (2 score)

 (b) Doctor used MRI scanning technique not X – ray to diagnose the reproductive

part.  What is the danger of using X –ray. (2 score)

Question Text:

Hcp B¬Ip«nbpsS hrjW k©n¡pÅnÂ Hcp hrjWw am{Xta ImWp¶pÅq.

tUmIvSÀ kv¡m\nwKv ]cntim[\bneqsS asämcp hrjWw icoc¯n\I¯v

Xs¶bps ­¶ v  Is ­¯n .

(a) Cu AhØ Ip«n¡v hÔyXbv¡v ImcWamhptam ?  \n§fpsS D¯cw

km[qIcn¡pI. 2 score

(b) tUmIvSÀ {]Xypev]mZ\ Ahbh§fpsS ]cntim[\bv¡mbn MRI

    kv¡m\nwKv D]tbmKn¡p¶p.  X -ray D]tbmKn¡p¶Xv sIm­pÅ

    tZmj§Ä F´mWv. 2 score

Scoring Key :

(a) Yes / No with Justification

1 + 1 = 2 score

M.P = 10

(b) Demerits of  X-ray

• Destroy some cells

• Can bring Mutations

• Contains lonising  radiation M.P = 10, 6

• Negatively affect an spenmato genesis / Oogenesis   ½ x 4 = 2 score

Or any 4 points Time : 4 mts

7) C.O : 15, 18

Question Text :

Observe and study the graph

(a) Find out the relation ship between FSH and Progesterone 1 score

(b) Ovulation not take place during gestation period. Give reason 2 score

Progesterone

FSH



Question Text:

{Km v̂ \nco£n v̈ ]Tn¡pI.

(a) FSH  Dw t{]msPÌtdm\pw X½nepÅ _Ôw I­p]nSn¡pI. 1 score

(b) KÀ`Ime¯v Hmhptej³ \S¡p¶nÃ.  ImcWw Is­¯pI. 2 score

Scoring Key :

(a) When FSH decreases progesterone increases 1 score

M.P= 5, 6

(b) High level progesterone

It inhibits the production of FSH

FSH helps in follicle devpt.

Illustrate the cause-effect relation ship.

2 score     6

8) C.O : 19

MP : 6, 7

Question Text :

“It is dangerous to take drugs without prescription of a doctor at early months of pregnancy”.

Comment on this statement. 2 score

Question Text:

“KÀ`mhØbpsS BZyIme§fnÂ tUmIvSdpsS D]tZiw IqSmsX acp¶pIÄ

Ign¡cpXv.”  Cu {]kvXmh\sb¸än {]XnIcn¡pI.2 score

Scoring Key :

Drugs may cause teratogenic effect

Mention about Teratogens

Rudimentary development of organs

Malformed embryo

(Any two points shows cause – effect relation shops) 1 x2 = 2 score

2 score

3 mts

Heading : ½ x 2 =1

Classification = 1

Order = 1

M.P = 4



9) C.O :  9, 19

MP : 8, 10

Question Text :

A concept map showing the filtration between glomerulus and Bowman’s capsule is given below.

Draw a concept map to show the filtration between uterine wall and placenta.

2 score

Question Text:

t¥msadpekpw, t_mam³kv Im]vkyqfpw X½nÂ \S¡p¶ Acn¡Â {]{InbbpsS

tIm¬sk]väv am¸v Xmsg sImSp¯ncn¡p¶p.  AXp \nco£n¨v ¹mkâbpw,

KÀ`mib`n¯nbpw X½nepÅ Acn¡Â {]{InbbpsS tIm¬sk]väv am v̧ hcbv¡pI.

2 score

Scoring Key :

Concept map shows the filtration process

It is two way filtrations process

2 score

M.P= 8, 10

10)C.O : 15, 19

MP : 10

Question Text :

Justify the following statements

(a) Placenta is an ultra filter

(b) Pregnancy involves complex hormone inter play 2 score

Glomerulus

Water
Glucose

Amino acids Urea
------

Salts
Ions

Bowman’s capsule

Placenta

O
2

CO
2 Nutrients Waste

products

Uterine wall



Question Text:

Xmsg sImSp¯ncn¡p¶ {]kvXmh\IÄ km[qIcn¡pI.

(a) ¹mkâ Hcp kq£va Acn¸bmWv.

(b) {]á³kn [mcmfw tlmÀtamWpIfpsS k¦oÀ® {]hÀ¯\w DÄs¸Sp¶XmWv.

Scoring Key :

(a) Materials are exchange through placenta.

(b) Mention the function of FSH, LH, progesterone oxytocin etc.

1 + 1 = 2 score

M.P = 10

Time : 4 mts

1)C.O : 15, 19

MP : 1, 5

Question Text :

A couple having no child approaches a doctor.  The lady failed to conceive due to two previous

unexpected abortions.  Doctor proposed a hormone treatment.

(a)  name the hormone that would be useful for this treatment 1 score

(b)  Name the organs which secrete these hormones in females 1 score

(c)  List out the physiological functions of this hormone 2 score

Question Text:

Ip«nIfnÃm¯ Z¼XnIÄ Hcp tUmIvSsd kao]n¨p.  B kv{Xobv¡v ap³]v c­v {]mhiyw

A{]Xo£nX At_mÀj³ kw`hn¨p.  tUmIvSÀ Hcp tlmÀtam¬ NnInÕ \nÀt±in¨p.

(a) GXv tlmÀtam¬ BWv Cu NnInÕbv¡v D]tbmKn¡p¶Xv F¶p ]dbpI

1 score

(b) GsXÃmw ̀ mK§fmWv Cu tlmÀtam¬ DÂ¸mZn¡n¡p¶Xv. 1 score

(c) Cu tlmÀtamWnsâ imcocnI [À½§Ä hyàam¡pI 2 score

Scoring Key :

(a) Progesterone 1 score M.P  1

(b) Ovary and Placenta ½ + ½ = 1  M.P  1

(c) (i) Implantation ½ + 4 = 2   M.P  1, 5

(ii) Maintains pregnancy

(iii) Prepares mammary glands for lactation

(iv) Regulate Oogenesis

(v) Inhibits ovulation

(Any four points)

4 score, 6 mts

2) C.O : 16, 23



MP : 1, 5, 2

Question Text :

The graph depicted here shows the human reproductive growth.  Observe the graph carefully.

(a)  Identify and name the period at which reproductive organs become active

1 score

(b)  Comment on the hormone responsible for exponential growth change

2 score

(c)  Enumerate any four problems of this age 2 score

Question Text:

a\pjy\nse {]Xypev]mZ\ hfÀ¨ ImWn¡p¶ {Km v̂ \¶mbn \nco£n¡pI.

 (a) {]Xypev]mZ\ hfÀ¨ icnbmbn XpS§p¶ ImeL«w Is­¯pIbpw

AXnsâ t]cv FgpXpIbpw sN¿pI. 1 score

(b) s]s«¶pÅ hfÀ¨bv¡v ImcWamhp¶ tlmÀtamWpIsf¡pdn v̈

{]Xn]mZn¡pI. 2 score

(c) Cu hbÊnÂ ImWs¸Sp¶ GsX¦nepw \mev {]iv\§Ä FgpXpI.

2 score

Scoring Key :

(a) Age group above 14 (-14 -18)

Puberty / Adolescence ½ + ½ = 1  M.P  1, 5

(b) FSH, LH, Oestrogen, Progesterone ½ x 4 = 2   M.P  1, 2

(c) Phobia,  Neurasthenia, Aggression, Hypochondria,

Acne, exhibitionism ½ x 4 = 2   M.P  1

(Any four points)

3) C.O : 19
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MP : 1, 2, 3

Question Text :

Observe and study the diagram

(a)  Identify the labelled part A, B, C and D 2 score

(b)  Discuss the function of foetal membranes 2 score

Question Text:

Nn{Xw \nco£n v̈ ]Tn¡pI.

(a) Nn{X¯nÂ ASbmfs¸Sp¯nb A, B, C, D F¶nh Fs´¶v I­p

]nSn¡pI. 2 score

(b) {`qWs¯ BhcWw sNbvXncn¡p¶ kvXc§fpsS [À½w hyàam¡pI.

2 score

Scoring Key :

[a] (A) Chorionic villi / placenta (B) Yolk sac

(C) Umbilical cord (D) Amniotic fluid

½ x 4 = 2 score

M.P  1, 2

[b] Amnion - Shock absorber

Chorion - Nutrition

Yolk sac - Placenta formation

Allanstois - Excretion & placenta formations

(Any four functions)

½ x 4 = 2  score

 M.P  1, 2, 3

4 score 6 mts

CHAPTER 9, 10



1) CO : 20

MP : 1, 5, 6, 7

Question text :

“Energy conservation day is going to be conducted in your school.  Prepare four slogans

to make aware the students to the need of energy conservation.”

2 score

\n§fpsS kv¡qfnÂ F\ÀPn I¬kÀth³ tU \S¯m³ Xocpam\n¨p.

Ip«nIsf F\ÀPn I¬kÀthjsâ BhiyIX a\Ênem¡m³ \mev ap{ZmhmIyw

X¿mdm¡pI. 2 score

Scoring Key :

Any four slogans ½ x 4 = 2 score

“Save energy save life “ M.P = 1, 5, 6, 7

“Fossil fuels are precious”

“Use conventional energy resources”

“Go back to conventional energy resources”

Indiscriminate use of petrol lead our nation to poverty”

2 score

4 mts

2) CO : 20, 21

MP : 2, 4

Question text :

“There are everything to satisfy our need but nothing to satisfy our greed.”  Evaluate and

comment  on this statement keeping on the mind the need of conservation of Natural resources.

2 Score

\½psS Bhiyw Xr]vXns¸Sm³ FÃmw ChnsSbp­v ]t£ AXym{Klw

Xr]vXns¸Sp¯m³ H¶panÃ.  Cu {]kvXmh\ a\ÊnÂ sh¨v {]IrXn hn`h§Ä

kwc£nt¡­ BhiyIX hnebncp¯pI.

2 score

Scoring Key :

Depletion of resource and population growth

Indiscriminate use of resources

Prevent over exploitation

Public awareness

(Any related points) ½ x 4 = 2 score



M.P = 2, 4

Time : 3 mts

3) CO :  21

MP : 1, 6, 10

Question text :

One of the major reasons for extinction of species is the destruction of habitat.  Justify this

statement by using two examples from your surroundings.

2 Score

kv]ojnkpIÄ A{]Xy£amhm\pÅ {][m\ ImcWw BhmkhyØbpsS \miamWv.

Cu {]kvXmh\sb \n§fpsS Npäp]mSpapÅ DZmlcWklnXw km[qIcn¡pI.

2 score

Scoring Key :

Any two particular species – their Habitat and How they are destructed.

Eg : Extinction of Rana hexadacatyla 1 + 1 = 2 score

Due to the destruction of marshes. M.P = 1, 6, 10

Time : 4 mts

4) CO : 20, 21

MP : 1, 2, 6

Question text :

“Biogas become popular on now a days as a source of energy.”

(a) Mention the merits of Biogas 2 Score

(b) List out any four renewable energy resources 2 score

Question text :

C¶v _tbmKymkv Hcp kmÀÆ{XnIamb Hcp DuÀÖ t{kmXÊmWv.

_tbmKymknsâ ta³aIÄ hyàam¡pI. 2 score

GsX¦nepw \mev ]p\cpÂ¸mZn¸n¡mhp¶ CÔ\§fpsS t]cv FgpXpI.

2 score

Scoring Key :

(a) 1. Clean & Ecofriendly fuel

2. Produce fewer pollutants

3. Can be easily stored and transported

4. Recycling ensures

5. Renewable energy



(Any four points) 4 x ½ = 2 score

M.P = 1, 2

    (b) wind, solar, tidal, geothermal, ocean wave etc.

(Any four) ½ x 4 = 2 score

M.P = 1, 2

5) CO : 20, 21

MP : 1, 9, 10

Question text :

The ‘Karimanal’ of Kerala coast is abundant with rare mineral resource thorium.

Multinational companies propose the mining of this resources.

(a) Do you agree with their project ? Substantiate your opinion 1 Score

(b) Find out the negative impact of mining 2 score

Question text :

tIcf¯nsâ XoctZi§fnÂ ImWs¸Sp¶ IcnaWenÂ tXmdnbw

ImWs¸Sp¶p.  _lpcmjv{S I¼\nIÄ Cu IcnaWÂ J\\w sN¿m³ Hcp ]²Xn

X¿mdm¡p¶p.

(a) Cu ]²XntbmSv \n§Ä tbmPn¡p¶pt­m ?  \n§fpsS D¯cw km[qIcn¡pI.

2 score

(b) J\\¯nsâ tZjhi§Ä I­p]nSn¡pI. 2 score

Scoring Key :

(a) For / against of with justification Ecological / Economic importance

1 + 1 = 2 score

M.P = 1, 10

(b) Depletion of resource and its Ecological imbalances

(Any four points) ½ x 4 = 2 score

1, 9

Time : 6 mts



6) CO : 21

MP : 1, 2

Question text :

The given figure represent the biodiversity of four communities A, B, C & D

(a) Give the name for diversity within A, between A & B and over A, B, C and D

1½  Score

(b) List out any three Ecological values of biodiversity 1 ½  score

Question text :

Nn{X¯nÂ \mev (A, B, C & D)  Community bpsS ssPh sshhn[yw ImWn¨ncn¡p¶p.

(a) A bpsS am{Xw sshhn[yw, A bpw B bpw X½nepÅ sshhn[yw

A, B, C, & D F¶nh X½nepÅ sshhn[yw F¶nhbpsS t]cv

hyàam¡pI. 1½  score

(b) ssPh sshhn[y¯nsâ \mev ]mcnØnXnI {]m[m\yw hyàam¡pI.

1½  score

Scoring Key :

(a)  α diversity, β diversity,  γ  – diversity. ½ x 3 = 1 ½

(b) (i) Climate control

(ii) Purity gases (oL)

(iii) Pest control

(iv) Pollution

(v) Provide habitat

(Any three points) ½ x 3 = 1 ½

MP = 1, 2

Time : 4 mts

Score : 3

A

B
C

D



7) CO : 20, 21

MP : 7, 9

Question text :

Observe and analyse the graph showing relation ship between size of the population/ resources

and year.

(a) Analyse the graph and list out any four findings. 2  Score

(b) Suggest any four methods to conserve Natural resources. 2  score

Question text :

sImSp¯ncn¡p¶ {Km v̂ \nco£n v̈ A]{KYn¡pI.

 (a) {Km^v A]{KYn¨v \mev Is­¯epIÄ hyàam¡pI. 2  score

(b) {]IrXn hn`h§Ä kwc£n¡m\pÅ 4 {]{InbIÄ \nÀt±in¡pI.

2  score

Scoring Key :

[a] (a) Population increases

(b) Resource depletion

(c) Its relation ship

(d) Over exploitation leads to resource depletion

(Any four points) ½ x 4 = 2 score

MP = 7, 9

[b] (1) Reduce over exploitation

(2) Sustainable resources management

(3) Recycling

(4) Use of renewable energy

½ x 4 = 2 score

MP = 7

Population

Natural resources
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8) CO : 21

MP : 5, 6, 9

Question text :

The given bar diagram shows the population size of Rana hexadactyla on the rice fields of Malabar.

Observe and analyse the graph.

(a) Write your findings from the graph 1  Score

(b) Predict the population of frogs in the near future 1  score

(c) Enlist the reasons for this effect 2 score

Question text :

dmW slIvkm UmIvssSe XhfIfpsS _mÀUb{Kw Xmsgs¡mSp¯ncn¡p¶p.  Nn{Xw

\nco£n v̈ A]{KYn¡pI.

 (a) {Km^nÂ ImWp¶ Imcyw FgpXpI. 1 score

 (b) X¶ncn¡p¶ {Km v̂ {]Imcw hcpw `mhnbnÂ XhfIfpsS F®¯n\v

F v́ kw`hn¡psa¶v {]hNn¡pI. 1  score

(b) GsX¦nepw \mev ImcWw CXn\v hyàam¡pI. 2  score

Answer Key :

(a) No. decreases 1 scoreM.P  9

(b) Extinction 1 score M.P 5

(c) Habitat destruction ½ x 4 = 2 score         M.P 5, 6

Excess use of pesticides

Change in climate

Use of agricultural machines

Excessive  Killing

Export

(Any four) Score : 4

Time : 6 mts
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9) CO : 21

MP : 1, 9

Question text :

“The central Govt declared the buffer zone to the silent valley National Park” predict

advantage of this decision. 2 score

tI{µ ‘KhÀsaâ v sskeâ v hmenbv¡v’ _^À tkm¬ {]Jym]n¨p.  Cu

Xocpam\¯nsâ KpW§Ä {]hNn¡pI. 2 score

Scoring Key :

Protective area

Research / Education

Reduce human settlement

Reduce destruction of forest resource

Area of park increase

Reduce the pressure (Any 4 points) ½ x 4 =2 score

MP = 1, 9

Time : 3 mts

 10) CO : 21

MP :

Question text :

Suppose the sacred grove in your locality is going to be desctroyed for making play

ground.  As a lover of nature do you agree with this plan.  Justify.

2 score

\n§fpsS Npäp]mSnepÅ Hcp Imhv IfnØeam¡m³ Xocpam\n¨p.  Hcp {]IrXn

kvt\ln F¶ \nebv¡v \n§Ä F§ns\ CXnt\mSv {]XnIcn¡pw.

2 score

Scoring Key :

Ecological importance

(Any four) Score : 2

Time : 3

M.P: 9, 10

1.  Biodiversity

2.  Balance of nature

3.  Purify air / water

4.  Rain water storage

5.  Prevent soil erosion

6.  Protect endangered species



10) CO : 22

MP : 6, 7

Question text :

Observe the graph and give at least one conclusion for regions A, B, C and D.

2 score

{Km v̂ \nco£n v̈ A, B, C, D `mK§Ä¡v Hcp Xocpam\w FgpXpI.

2 score

Scoring Key :

A : High Birth rate / fluctuating D.R

B : Declining D.R / High B. R

C : Declining Birth & Death rate

D : Low Death rate / Fluctuating B.R.

(any four points) ½ x 4 = 2 score

MP : 6, 7

3 mts.

Time

A B C D

Total population

Birth rate

Death rate



CHAPTER 11 , 12

1) CO : 24, 25

MP :  1, 2

A doctor noticed a small internal growth in the abdomen of a patient.    Doctor suspect it

as a cancer.

a.  Which biomedical technique enabled the doctor to diagnose the disease(1)

b.  Suggest the methods to treat this disease. (2)

Hcp tcmKnbpsS DZcmib¯n\pÅnÂ Hcp sNdnb apg hfcp¶Xmbn tUmIvSÀ Is­̄ n.

apg Hcp Im³kdmhmsa¶v tUmIvSÀ kwibn¡p¶p.

(a) GXv _tbm saUn¡Â kmt¦XnIhnZy D]tbmKn¨mhmw tUmIvSÀ CXv

Is ­¯nbX v  ?

 (b) Cu tcmKw NnInÕn¡p¶Xn\pÅ amÀ¤§Ä \nÀt±in¡pI.

Scoring Key :

a. Biopsy / scanning / MRI / Sonography or any other relevant technique

(1)

b. Chemo therapy

Surgery

Hormone treatment

Immune treatment

Radiation therapy

(at least 4) 2 score

Total score : 3

Time : 4 mts

2) CO : 24

MP :  2, 10

Question text :

A doctor suggested a pregnant lady to take CT scan. Was it a wise decision.  Justify your

answer. (2)



Hcp KÀ`nWntbmSv CT kvIm³ sSÌv sN¿m³ tUmIvSÀ \nÀt±in¡p¶p.

tUmIvSdpsS Xocpam\w icnbmsW¶v \n§Ä¡v tXm¶p¶pthm ?  \n§fpsS D¯cs¯

km[qIcn¡pI. (2)

Scoring Key :

Doctors decision was not good.

CT scan used X rays

Problem of radiation, mutation

Deformity to the foetus.

(correct analysis & explanation 2 score)

Score : 2

Time : 3 minutes

3) CO : 24

MP :  7, 10

Question text :

A patient with severe head injury was adviced to take X ray by a nurse in a hospital in the

absence of duty doctor.

a.  Do you think it as a correct decision ?  Justify. (1)

b.  Suggest a suitable diagnostic technique for the patient. (1)

c.  Give the principle behind your suggested technique (2)

KpcpXcambn Xe¡v £Xtaä tcmKntbmSv FIvkvtd FSp¯phcm³ Hcp

tlmkv]näense t\gvkv \nÀt±in¡p¶p.  Uyq«n tUmIvSÀ Øe¯nÃ.

 (a) \gvknsâ Xocpam\w icntbm ?  km[qIcn¡pI. (1)

 (b) tcmKnbpsS {]iv\w a\Ênem¡m³ DNnXamb asämcp diagnostic amÀ¤w

\nÀt±in¡pI. (1)

(c) \n§Ä \nÀt±in¨ sSIv\n¡nsâ XXzw hniZam¡pI. (2)

Scoring Key :

(a) No. Head injury cannot be detected by X ray.  Wasting time for X ray

may make situation worse. (1)

(b) Scanning or any other relevant method. (1)

(c) Correct principle (brief) of the suggested technique. (2)

Time : 5 mts

Score : 5



4) CO : 25

MP :  2, 6, 7

Question text :

A doctor detected a tumour in the body of a person.  The patient feel that he would die

soon due to tumour.  How can you help him to overcome his fear.  Write your response.

Hcp tcmKnbpsS icoc¯nÂ tUmIvSÀ Hcp SyqaÀ Is­¯n.  tcmKn

SyqadpÅXpsIm­v Xm³ s]s«¶v acn¡psa¶v `bs¸Sp¶p.  tcmKnbpsS t]Sn amäm³

\n§Ä¡v klmbn¡mtam.  \n§fpsS {]XnIcWw FgpXpI.

(3)

Scoring Key :

It was tumour, not cancer.  All Tumours are not so dangerous, It will not spread.  It can be

removed by surgery.  It is a permanent treatment for tumour.

(Any six relevant ideas  6 x ½ = 3)

Score : 3

Time : 3 mts

Qn No: CO : 25

M.P: 2, 7

Question text:

“The soldiers of a country kills their own king” keeping this in mind, in our body similar

situation take place.  Find out that process”.

2 score

Question text :

“Hcp cmPy¯nse ]SbmfnIÄ AhcpsS cmPmhns\ sImÃp¶p.”  CXp t]mse \½psS

icoc¯nÂ \S¡p¶ {]hÀ¯\w hyàam¡pI.

2 score

Scoring Key :

Auto Immune disease

1 x 2 = 2 score

M.P : 2, 7

Time : 3 mts



Qn No: CO : 25

M.P: 5, 2

(a) Identify this protein molecule 1 score

(b) Copy and label the diagram2 score

(a) Cu t{]m«o³ GXmWv 1 score

(b) Cu Nn{Xw ]IÀ¯n `mK§Ä ASbmfs¸Sp¯pI. 2 score

Scoring Key :

(a)  Immuno globulin 1 score

(b)  Draw and label 1 + 1 = 2 score

M.P : 5, 2

Q No :  CO : 26

M.P = 1, 5


